
Subject: Re: Undocumented array indexing feature?
Posted by Mark Buckley on Mon, 25 Jan 1999 08:00:00 GMT
View Forum Message <> Reply to Message

J.D. Smith wrote in message <36A8B556.DE735D13@astrosun.tn.cornell.edu>...
> It doesn't work for everything though... as evidenced by:
> 
> z=5+6*(y=8)

Even better, I just realised that you can do:

y = 5 + y * ((y=8))

and get y to end up equal to 69!

Bah! Who needs temporary()!!

Mark.

Mark Buckley
Rutherford-Appleton Laboratory
Chilton
Didcot
OXON
UK
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